
SAP ABAP table REAJ_RECORD_STATUS_X {Adjustment Record Including Additional Fields and Status}

REAJ_RECORD_STATUS_X

PROCESSGUID [RAW (16)]

ADJMRULE [CHAR (10)]

ADJMSUBRULE [CHAR (10)]

ADJMSUBMETH [CHAR (4)]

ADJMRULEDEFAULT [CHAR (10)]

ADJMREASON [CHAR (10)]

CHGREASON [CHAR (10)]

CARRYOVERCT [CHAR (4)]

CONDPURPOSENEW [CHAR (4)]

CONDTYPENEW [CHAR (4)]

CONDGROUP [CHAR (4)]

CONDTYPE [CHAR (4)]

CONDPURPOSE [CHAR (4)]

RB_INDEXSERIES [CHAR (5)]

RB_INDEXBASEYEAR [NUMC (4)]

T094A

MANDT [CLNT (3)]

WBIND [CHAR (5)]

 REAJ_RECORD_STATUS_X-RB_INDEXSERIES = T094A-WBIND 

0..N

1

T094B

MANDT [CLNT (3)]

WBIND [CHAR (5)]

YBASISJ [NUMC (4)]

 REAJ_RECORD_STATUS_X-RB_INDEXBASEYEAR = T094B-YBASISJ 

0..N

1

TIVAJMETH

ADJMMETH [CHAR (4)]

 REAJ_RECORD_STATUS_X-ADJMSUBMETH = TIVAJMETH-ADJMMETH 

0..N

1

TIVAJREASON

MANDT [CLNT (3)]

ADJMMETH [CHAR (4)]

ADJMREASON [CHAR (10)]

 REAJ_RECORD_STATUS_X-ADJMREASON = TIVAJREASON-ADJMREASON 
0..N

1

TIVCDCHGREAS

MANDT [CLNT (3)]

CONDTYPE [CHAR (4)]

CHGREASON [CHAR (10)]

 REAJ_RECORD_STATUS_X-CHGREASON = TIVCDCHGREAS-CHGREASON 
0..N

1

TIVCDCONDGROUP

MANDT [CLNT (3)]

CONDGROUP [CHAR (4)]

 REAJ_RECORD_STATUS_X-CONDGROUP = TIVCDCONDGROUP-CONDGROUP 

0..N

{0,1}

TIVCDCONDTYPE

MANDT [CLNT (3)]

CONDTYPE [CHAR (4)]

 REAJ_RECORD_STATUS_X-CARRYOVERCT = TIVCDCONDTYPE-CONDTYPE 

0..N

1

 REAJ_RECORD_STATUS_X-CONDTYPENEW = TIVCDCONDTYPE-CONDTYPE 

0..N

1

TIVCDCOPUEXT

MANDT [CLNT (3)]

CONDPURPOSEEXT [CHAR (4)]

 REAJ_RECORD_STATUS_X-CONDPURPOSE = TIVCDCOPUEXT-CONDPURPOSEEXT 

0..N

{0,1}

 REAJ_RECORD_STATUS_X-CONDPURPOSENEW = TIVCDCOPUEXT-CONDPURPOSEEXT 

0..N

1

TIVAJRULE

MANDT [CLNT (3)]

ADJMRULE [CHAR (10)]

VICAPROCESSID

MANDT [CLNT (3)]

PROCESSGUID [RAW (16)]

VERSION [CHAR (3)]


